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Answer any five questions
All questions carry equal marks
Explain the procedure for converting Gray code to Binary code with an example.
Selve for X
i} (F3IATC2)16 = (X0
i) (RACS)16 = (10949)x
iif) (0.93)10 = (X)g

iv) (4057.06)s = (X)10 . [7+8]

Write the Dual of

i) (A+BC'+AB) T

if) (AB+B'C+CD) yd P

Prove the following ide tfty ; )

XY +X'Y' +YZ =XY, X'Y’ X7 /[ _ [8+7]
< s — .

Use tabular procedure to\§zmp‘1ify hepiven \eyﬁresswn
f(v W,X,V,2) = ~0~4 12, 16\9 2<27 28,29,31) in SOP form and draw the circuit
ate [15]

using only NA /%!
Design a 10 ic cirgui IONEMHCO e a‘Q“ put bits to n bit output.
Design a 4 b Parailel”aader using ﬁ!ll adders. [8+7]

é

| Design a sequenufil loglc elrcuit of a 4 bit counter to start counting from 0000 to

1000 and this process should go on. Draw the ASM chart and design the Data
processing unit and the c¢ontrol unit. [15]

Draw the block diagram of a ROM. Define address and word. Relate the number
of output lines with number of bits in a word. How an output word can be

selected?
For a 64x8 ROM, determine the number of words it contains and the size of each

word. How many output lines are there for the ROM? [7+8]

Give a detailed comparison between combinational logic circuits and sequential

logic circuits.
Explain the operatlon of JK flip flop with the help of input output waveforms.
[8+7]




